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{Organic Chemistry: Standard]

Answer pro'blems (1) through (8).

The synthetic scheme of optically pure (+)-SCH 54016. (X, Figure 1) is shown in Scheme 1 on the next
page. The reaction solverits are omitted. The following abbreviations are used: Me = CHs, Et = CH3CHa, Pr
.= (CH3)CH, Bu= CH3(CH,);, Bu= (CH3}CHCH2, Ph=C¢Hs.
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Figure 1. (+)-SCH 54016 (X)

Show the absolute configuration of the chiral carbon center of compound A according to the RS
convention.

Briefly explain why the ester moiety of compound A was reduced selectively among the ester and
carboxylic acid moieties in Step I.

Show the mechanism of the reaction in Step Il using the curved arrow formalism by showing the

structures of the reaction intermediates and co-products.

Show the mechanism of the reaction in Step Il using the curved arrow formalism by showing the

structures of the reaction intermediates and co-products.’

The chiral auxiliary B in Step IV can be synthesized from an optically active non-natural g-amino
acid. Show the structure of the optically active non-natural g-amino acid. Also show a synthetic

scheme for B from the a-amino acid with reagents required.

.In Step IV, the compound C promotes the reaction catalytically. Briefly explain the mechanism of

the catalytic reaction. If necessary, use fisures in your explanation.
Show the structures of two co-products derived from the reagents in the reaction in Step V.

In Step Vi, the target compound X formed selectively among the two possible compounds X and X’.
Explain using figures why the compound X formed selectively.
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